## Scholars Journal of Engineering and Technology (SJET)

Sch. J. Eng. Tech., 2015; 3(2A):124-128 ©Scholars Academic and Scientific Publisher (An International Publisher for Academic and Scientific Resources) www.saspublisher.com

## ISSN 2321-435X (Online) ISSN 2347-9523 (Print)

# **Research Article**

# Classification of the Solutions to the fourth-order homogeneous linear difference equation with constant coefficients

LI Wenhe

College of mathematics and statistics, Northeast Petroleum University, Daqing 163318, China

\*Corresponding author LI Wenhe

Email: xiongdi163@163.com

**Abstract:** This paper mainly studies classification of the solutions to the fourth-order homogeneous linear difference equation with constant coefficients. First, we determine the generating function of it. Then, we use the complete discrimination system for polynomial to get classification of the solutions for the considered equation. **Keywords:** Generating function; Difference equation; Complete discrimination system for polynomial.

### INTRODUCTION

Generating function plays an important role in many fields ,such as probability theory, combinatorial mathematics, programming and algorithm design and digital signal processing[1,2]. Generating function method is also a powerful tool for studying difference equations.

Complete discrimination system for polynomial can be applied to solve all kinds of the partial differential equations[3,4,5,6]. In this paper, we use this method to solve the difference equation. It is an initiative and there is no one else that does so.

In this paper, we first determine the generating function of the unknown function in the fourthorder homogeneous linear difference equation with constant coefficients.

Then, we use the complete discrimination system for polynomial to get classification of the solutions for the considered equation.

# GENERATING FUNCTION OF THE FOURTH-ORDER HOMOGENEOUS LINEAR DIFFERENCE EQUATION

In this paper, we take into account the fourth-order homogeneous linear difference equation, and it reads as

$$a_n + pa_{n-1} + qa_{n-2} + \omega a_{n-3} + ta_{n-4} = 0$$

The characteristic equation of the above formula is

$$r^4 + pr^3 + qr^2 + \omega r + t = 0$$

Where p, q,  $\omega$ , t are real numbers and  $t \neq 0$ .

Let  $\{a_n\}$  and  $\{b_n\} = \{1, p, q, \omega, t, 0, L\}$ , then we do convolution calculation to them.

We get 
$$c_n = \{a_0, a_0p + a_1, a_0q + a_1p + a_2, a_0\omega + a_1q + a_2p + a_3, a_0t + a_1\omega + a_2q + a_3q + a_4, 0, L\}$$

= {
$$a_0, a_0 p + a_1, a_0 q + a_1 p + a_2, a_0 \omega + a_1 q + a_2 p + a_3, 0, L$$
 }

Let  $\sum_{n=0}^{\infty} c_n x^n = (\sum_{n=0}^{\infty} a_n x^n) (\sum_{n=0}^{\infty} b_n x^n)$ , so we obtain the generating function of  $\{a_n\}$  as follows[2]

$$\sum_{n=0}^{\infty} a_n x^n = \frac{\sum_{n=0}^{\infty} c_n x^n}{\sum_{n=0}^{\infty} b_n x^n} = \frac{a_0 + (a_0 p + a_1)x + (a_0 q + a_1 p + a_2)x^2 + (a_0 \omega + a_1 q + a_2 p + a_3)x^3}{1 + px + qx^2 + \omega x^3 + tx^4}$$
(1)

## CLASSIFICATION OF THE SOLUTIONS TO THE CONSIDERED EQUATION

Let

According to complete discrimination system for polynomial, there are nine cases as follows.

3.1 If  $D_2 > 0$ ,  $D_3 > 0$ ,  $D_4 > 0$ , the characteristic equation has four different real roots  $\gamma_1$ ,  $\gamma_2$ ,  $\gamma_3$ ,  $\gamma_4$ . That is

 $F(x) = (1 - \gamma_1 x)(1 - \gamma_2 x)(1 - \gamma_3 x)(1 - \gamma_4 x)$ Then

$$\sum_{n=0}^{\infty} a_n x^n = \frac{C_1}{1 - \gamma_1 x} + \frac{C_2}{1 - \gamma_2 x} + \frac{C_3}{1 - \gamma_3 x} + \frac{C_4}{1 - \gamma_4 x}$$
$$= C_1 \sum_{n=0}^{\infty} (\gamma_1 x)^n + C_2 \sum_{n=0}^{\infty} (\gamma_2 x)^n + C_3 \sum_{n=0}^{\infty} (\gamma_3 x)^n + C_4 \sum_{n=0}^{\infty} (\gamma_4 x)^n$$
$$= \sum_{n=0}^{\infty} (C_1 \gamma_1^n + C_2 \gamma_2^n + C_3 \gamma_3^n + C_4 \gamma_4^n) x^n$$

Therefore, we get

$$a_n = C_1 \gamma_1^n + C_2 \gamma_2^n + C_3 \gamma_3^n + C_4 \gamma_4^n$$

3.2 If  $D_2 > 0$ ,  $D_3 > 0$ ,  $D_4 = 0$ , the characteristic equation has two simple real roots  $\gamma_1, \gamma_2$  and a double real root  $\gamma_3$ .

That is

$$F(x) = (1 - \gamma_1 x)(1 - \gamma_2 x)(1 - \gamma_3 x)^2$$

Then

$$\sum_{n=0}^{\infty} a_n x^n = \frac{C_1}{1 - \gamma_1 x} + \frac{C_2}{1 - \gamma_2 x} + \frac{C_3}{1 - \gamma_3 x} + \frac{C_4}{(1 - \gamma_3 x)^2}$$
$$= C_1 \sum_{n=0}^{\infty} (\gamma_1 x)^n + C_2 \sum_{n=0}^{\infty} (\gamma_2 x)^n + C_3 \sum_{n=0}^{\infty} (\gamma_3 x)^n + C_4 \sum_{n=0}^{\infty} (n+1)\gamma_3^n x^n$$
$$= \sum_{n=0}^{\infty} [C_1 \gamma_1^n + C_2 \gamma_2^n + C_3 \gamma_3^n + C_4 (n+1)\gamma_3^n] x^n$$

Therefore, we get

 $a_{n} = C_{1}\gamma_{1}^{n} + C_{2}\gamma_{2}^{n} + [C_{3} + C_{4}(n+1)]\gamma_{3}^{n}$ (3)

3.3 If  $D_2 > 0$ ,  $D_3 = 0$ ,  $D_4 = 0$ ,  $E_2 = 0$ , the characteristic equation has a simple real root  $\gamma_1$  and a triple real root  $\gamma_2$ .

That is

 $F(x) = (1 - \gamma_1 x)(1 - \gamma_2 x)^3$ Then

$$\sum_{n=0}^{\infty} a_n x^n = \frac{C_1}{1 - \gamma_1 x} + \frac{C_2}{1 - \gamma_2 x} + \frac{C_3}{(1 - \gamma_2 x)^2} + \frac{C_4}{(1 - \gamma_2 x)^2}$$
$$= C_1 \sum_{n=0}^{\infty} (\gamma_1 x)^n + C_2 \sum_{n=0}^{\infty} (\gamma_2 x)^n + C_3 \sum_{n=0}^{\infty} (n+1)\gamma_2^n x^n + C_4 \sum_{n=0}^{\infty} \frac{1}{2} (n+1)(n+2)\gamma_2^n x^n$$

(2)

$$=\sum_{n=0}^{\infty} \left[C_{1}\gamma_{1}^{n}+C_{2}\gamma_{2}^{n}+C_{3}(n+1)\gamma_{2}^{n}+C_{4}\frac{1}{2}(n+1)(n+2)\gamma_{2}^{n}\right]x^{n}$$

Therefore, we get

$$a_n = C_1 \gamma_1^n + [C_2 + C_3(n+1) + \frac{1}{2}C_4(n+1)(n+2)]\gamma_2^n$$
(4)

3.4 If  $D_2 = 0$ ,  $D_3 = 0$ ,  $D_4 = 0$ , the characteristic equation has a quadruple real root  $\gamma_1$ . That is

$$F(x) = (1 - \gamma_1 x)^4$$

Then

$$\sum_{n=0}^{\infty} a_n x^n = \frac{C_1}{1 - \gamma_1 x} + \frac{C_2}{(1 - \gamma_1 x)^2} + \frac{C_3}{(1 - \gamma_1 x)^3} + \frac{C_4}{(1 - \gamma_1 x)^4}$$

$$= C_1 \sum_{n=0}^{\infty} (\gamma_1 x)^n + C_2 \sum_{n=0}^{\infty} (n+1)\gamma_1^n x^n + C_3 \sum_{n=0}^{\infty} \frac{1}{2} (n+1)(n+2)\gamma_1^n x^n + C_4 \sum_{n=0}^{\infty} \frac{1}{6} (n+1)(n+2)(n+3)\gamma_1^n x^n$$

$$= \sum_{n=0}^{\infty} [C_1 \gamma_1^n + C_2 (n+1)\gamma_1^n + C_3 \frac{1}{2} (n+1)(n+2)\gamma_1^n + C_4 \frac{1}{6} (n+1)(n+2)(n+3)\gamma_1^n]x^n$$
Therefore, we get

Therefore, we get

$$a_{n} = [C_{1} + C_{2}(n+1) + C_{3}\frac{1}{2}(n+1)(n+2) + C_{4}\frac{1}{6}(n+1)(n+2)(n+3)]\gamma_{1}^{n}$$
(5)

3.5 If  $D_2 > 0$ ,  $D_3 = 0$ ,  $D_4 = 0$ ,  $E_2 > 0$ , the characteristic equation has two different double real roots  $\gamma_1$  d  $\gamma_2$ 

and  $\gamma_2$ .

That is  $F(x) = (1 - \gamma_1 x)^2 (1 - \gamma_2 x)^2$ Then

$$\sum_{n=0}^{\infty} a_n x^n = \frac{C_1}{1 - \gamma_1 x} + \frac{C_2}{(1 - \gamma_1 x)^2} + \frac{C_3}{1 - \gamma_2 x} + \frac{C_4}{(1 - \gamma_2 x)^2}$$
$$= C_1 \sum_{n=0}^{\infty} (\gamma_1 x)^n + C_2 \sum_{n=0}^{\infty} (n+1)(\gamma_1 x)^n + C_3 \sum_{n=0}^{\infty} (\gamma_2 x)^n + C_4 \sum_{n=0}^{\infty} (n+1)\gamma_2^n x^n$$
$$= \sum_{n=0}^{\infty} [C_1 \gamma_1^n + C_2 (n+1)\gamma_1^n + C_3 \gamma_2^n + C_4 (n+1)\gamma_2^n] x^n$$

Therefore, we get

$$a_n = [C_1 + C_2(n+1)]\gamma_1^n + [C_3 + C_4(n+1)]\gamma_2^n$$
(6)

3.6 If  $D_2 > 0$ ,  $D_3 = 0$ ,  $D_4 = 0$ ,  $E_2 > 0$ , the characteristic equation has two different double real roots  $\gamma_1$  and  $\gamma_2$  and a pair of conjugate imaginary roots  $\gamma_3$ ,  $\gamma_4$  where  $\gamma_3 = \overline{\gamma}_4$ . That is

$$F(x) = (1 - \gamma_1 x)(1 - \gamma_2 x)(1 - \gamma_3 x)(1 - \gamma_4 x)$$
  
Then

$$\sum_{n=0}^{\infty} a_n x^n = \frac{C_1}{1 - \gamma_1 x} + \frac{C_2}{1 - \gamma_2 x} + \frac{C_3}{1 - \gamma_3 x} + \frac{C_4}{1 - \gamma_4 x}$$
$$= C_1 \sum_{n=0}^{\infty} (\gamma_1 x)^n + C_2 \sum_{n=0}^{\infty} (\gamma_2 x)^n + C_3 \sum_{n=0}^{\infty} (\gamma_3 x)^n + C_4 \sum_{n=0}^{\infty} (\gamma_4 x)^n$$
$$= \sum_{n=0}^{\infty} (C_1 \gamma_1^n + C_2 \gamma_2^n + C_3 \gamma_3^n + C_4 \gamma_4^n) x^n$$

Therefore, we get

$$a_n = C_1 \gamma_1^n + C_2 \gamma_2^n + C_3 \gamma_3^n + C_4 \gamma_4^n$$

$$= C_{1}\gamma_{1}^{n} + C_{2}\gamma_{2}^{n} + 2\operatorname{Re}[|C_{3}|(\cos\theta_{0} + i\sin\theta_{0})|\gamma_{3}|^{n}(\cos n\varphi + i\sin n\varphi)]$$
  
$$= C_{1}\gamma_{1}^{n} + C_{2}\gamma_{2}^{n} + 2|C_{3}||\gamma_{3}|^{n}(\cos\theta_{0}\cos n\varphi - \sin\theta_{0}\sin n\varphi)$$
  
$$= C_{1}\gamma_{1}^{n} + C_{2}\gamma_{2}^{n} + |\gamma_{3}|^{n}(C_{3}'\cos n\varphi + C_{4}'\sin n\varphi)$$
(7)

Where  $C_3 = |C_3|(\cos\theta_0 + i\sin\theta_0)$ ,  $\gamma_3 = |\gamma_3|(\cos\varphi + i\sin\varphi)$ ,  $C_3 = \overline{C}_4$ .

3.7 If  $D_4 = 0$ ,  $D_2D_3 < 0$ , the characteristic equation has a double real root  $\gamma_1$  and a pair of conjugate imaginary roots  $\gamma_2$ ,  $\gamma_3$ , where  $\gamma_2 = \overline{\gamma}_3$ .

That is

 $F(x) = (1 - \gamma_1 x)^2 (1 - \gamma_2 x)(1 - \gamma_3 x)$ Then

$$\sum_{n=0}^{\infty} a_n x^n = \frac{C_1}{1 - \gamma_1 x} + \frac{C_2}{(1 - \gamma_1 x)^2} + \frac{C_3}{1 - \gamma_2 x} + \frac{C_4}{1 - \gamma_3 x}$$
$$= C_1 \sum_{n=0}^{\infty} (\gamma_1 x)^n + C_2 \sum_{n=0}^{\infty} (n+1)(\gamma_1 x)^n + C_3 \sum_{n=0}^{\infty} (\gamma_2 x)^n + C_4 \sum_{n=0}^{\infty} (\gamma_3 x)^n$$
$$= \sum_{n=0}^{\infty} [C_1 \gamma_1^n + C_2 (n+1)\gamma_1^n + C_3 \gamma_2^n + C_4 \gamma_3^n] x^n$$

Therefore, we get

$$a_{n} = C_{1}\gamma_{1}^{n} + C_{2}(n+1)\gamma_{1}^{n} + C_{3}\gamma_{2}^{n} + C_{4}\gamma_{3}^{n}$$
  
=  $C_{1}\gamma_{1}^{n} + C_{2}(n+1)\gamma_{1}^{n} + 2\operatorname{Re}[|C_{3}|(\cos\theta_{0} + i\sin\theta_{0})|\gamma_{2}|^{n}(\cos n\varphi + i\sin n\varphi)]$ 

 $= C_1 \gamma_1^n + C_2 (n+1) \gamma_1^n + 2 |C_3| |\gamma_2|^n (\cos \theta_0 \cos n\varphi - \sin \theta_0 \sin n\varphi)$  $= C_1 \gamma_1^n + C_2 (n+1) \gamma_1^n + |\gamma_2|^n (C_3' \cos n\varphi + C_4' \sin n\varphi)$ Where  $C_1 = |C_1| (\cos \theta_1 + i\sin \theta_1) + \gamma_2 = |\gamma_1| (\cos \varphi_1 + i\sin \varphi_2) + C_2 = \overline{C}$ 

Where  $C_3 = |C_3| (\cos \theta_0 + i \sin \theta_0)$ ,  $\gamma_2 = |\gamma_2| (\cos \varphi + i \sin \varphi)$ ,  $C_3 = \overline{C}_4$ .

3.8 If  $D_4 > 0$ ,  $D_2 D_3 \le 0$ , the characteristic equation has two pairs of conjugate imaginary roots  $\gamma_1$ ,  $\gamma_2$  and  $\gamma_3$ ,  $\gamma_4$ , where  $\gamma_1 = \overline{\gamma}_2$ ,  $\gamma_3 = \overline{\gamma}_4$ .

That is

 $F(x) = (1 - \gamma_1 x)(1 - \gamma_2 x)(1 - \gamma_3 x)(1 - \gamma_4 x)$  Then

$$\sum_{n=0}^{\infty} a_n x^n = \frac{C_1}{1 - \gamma_1 x} + \frac{C_2}{1 - \gamma_2 x} + \frac{C_3}{1 - \gamma_3 x} + \frac{C_4}{1 - \gamma_4 x}$$
$$= C_1 \sum_{n=0}^{\infty} (\gamma_1 x)^n + C_2 \sum_{n=0}^{\infty} (\gamma_2 x)^n + C_3 \sum_{n=0}^{\infty} (\gamma_3 x)^n + C_4 \sum_{n=0}^{\infty} (\gamma_4 x)^n$$
$$= \sum_{n=0}^{\infty} (C_1 \gamma_1^n + C_2 \gamma_2^n + C_3 \gamma_3^n + C_4 \gamma_4^n) x^n$$

Therefore, we get

$$a_{n} = C_{1}\gamma_{1}^{n} + C_{2}\gamma_{2}^{n} + C_{3}\gamma_{3}^{n} + C_{4}\gamma_{4}^{n}$$

$$= 2\operatorname{Re}[|C_{1}|(\cos\theta_{0} + i\sin\theta_{0})|\gamma_{1}|^{n}(\cos n\varphi + i\sin n\varphi)] + 2\operatorname{Re}[|C_{3}|(\cos\theta_{1} + i\sin\theta_{1})|\gamma_{3}|^{n}(\cos n\tau + i\sin n\tau)]$$

$$= 2|C_{1}||\gamma_{1}|^{n}(\cos\theta_{0}\cos n\varphi - \sin\theta_{0}\sin n\varphi) + 2|C_{3}||\gamma_{3}|^{n}(\cos\theta_{1}\cos n\tau - \sin\theta_{1}\sin n\tau)$$

$$= |\gamma_{1}|^{n}(C_{1}'\cos n\varphi + C_{2}'\sin n\varphi) + |\gamma_{3}|^{n}(C_{3}'\cos n\tau + C_{4}'\sin n\tau)$$
(9)
Where  $C_{1} = |C_{1}|(\cos\theta_{0} + i\sin\theta_{0}), \gamma_{1} = |\gamma_{1}|(\cos\varphi + i\sin\varphi), C_{1} = \overline{C}_{2},$ 

(8)

 $C_3 = |C_3|(\cos\theta_1 + i\sin\theta_1), \ \gamma_3 = |\gamma_3|(\cos\tau + i\sin\tau), \ C_3 = \overline{C}_4.$ 3.9 If  $D_2 < 0$ ,  $D_3 = D_4 = 0$ , the characteristic equation has a pair of conjugate imaginary roots  $\gamma_1$ ,  $\gamma_2$ . where  $\gamma_1 = \overline{\gamma}_2$ . That is  $F(x) = (1 - \gamma_1 x)^2 (1 - \gamma_2 x)^2$ Then  $\sum_{n=0}^{\infty} a_n x^n = \frac{C_1}{1 - \nu_1 x} + \frac{C_2}{(1 - \nu_1 x)^2} + \frac{C_3}{1 - \nu_2 x} + \frac{C_4}{(1 - \nu_2 x)^2}$  $=C_{1}\sum_{n=0}^{\infty}(\gamma_{1}x)^{n}+C_{2}\sum_{n=0}^{\infty}(n+1)(\gamma_{1}x)^{n}+C_{3}\sum_{n=0}^{\infty}(\gamma_{2}x)^{n}+C_{4}\sum_{n=0}^{\infty}(n+1)\gamma_{2}^{n}x^{n}$  $=\sum_{n=0}^{\infty} [C_1 \gamma_1^n + C_2 (n+1) \gamma_1^n + C_3 \gamma_2^n + C_4 (n+1) \gamma_2^n] x^n$ Therefore, we get  $a_n = [C_1 + C_2(n+1)]\gamma_1^n + [C_3 + C_4(n+1)]\gamma_2^n$  $= 2\operatorname{Re}[|C_1|(\cos\theta_0 + i\sin\theta_0)|\gamma_1|^n(\cos n\varphi + i\sin n\varphi)] + 2(n+1)\operatorname{Re}[|C_2|(\cos\theta_1 + i\sin\theta_1)|\gamma_1|^n(\cos n\varphi + i\sin n\varphi)]$  $= 2|C_1||\gamma_1|^n (\cos\theta_0 \cos n\varphi - \sin\theta_0 \sin n\varphi) + 2|C_2||\gamma_1|^n (n+1)(\cos\theta_1 \cos n\varphi - \sin\theta_1 \sin n\varphi)$  $= |\gamma_1|^n (C_1' \cos n\varphi + C_2' \sin n\varphi) + |\gamma_1|^n (n+1)(C_3' \cos n\varphi + C_4' \sin n\varphi)$ (10)Where  $C_1 = |C_1| (\cos \theta_0 + i \sin \theta_0)$ ,  $\gamma_1 = |\gamma_1| (\cos \varphi + i \sin \varphi)$ ,  $C_1 = \overline{C}_3$ .  $C_2 = |C_2|(\cos\theta_1 + i\sin\theta_1), C_2 = \overline{C}_4.$ 

## CONCLUSIONS

In this paper, we determine the generating function of the unknown function in the fourth-order homogeneous linear difference equation with constant coefficients. Then, we use the complete discrimination system for polynomial to get classification of the solutions and obtain the solutions (2) (3) (4) (5) (6) (7) (8) (9) (10) for the considered equation. This paper has introduced a simple and useful method to solve the homogeneous linear difference equations with constant coefficients.

### Acknowledgements

I would like to thank the referees and the editor for their valuable suggestions.

#### REFERENCES

- 1. Guoyu MA; The Generating Function Method—A Good Way to Solve the Difference Equations. Journal of Beijing University of Chemical Technology, 1979; 4: 83-102.
- 2. FENG Weijie, WU Jitao; The General Formula of a Linear Homogeneous Recursive Sequence with Constant Coefficients and Generating Function. Mathematics in Practice and Theory, 2012; 42(6): 257-260.
- Cheng-Shi Liu; Applications of complete discrimination system for polynomial for classifications of traveling wave solutions to nonlinear differential equations, Comput. Phys. Comm, 2010; 181(2): 317-324.
- 4. Cheng-Shi Liu; New trial equation method and exact solutions to some nonlinear mathematical physical equations, Far East J. Appl. Math, 2010; 40(1):49-64.
- Cheng-Shi Liu; Trial equation method based on symmetry and applications to nonlinear equations arising in mathematical physics, Found. Phys, 2011; 41(5):793-804.
- 6. Anjan Biswas; Solitary wave solution for the generalized Kawahara equation, Appl. Math. Lett, 2009;22(2): 208-210.